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Wn’re The names of The organisms pic‘rured on Thts pcxge where ’fhey belong
on the energy pyramid. Some may be hsfed on more than one !evel
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]_@ Ocean Community .
1,000 Pound -
Tu_na Fish Sandwich

I'am sure you did not have a 1,000 pound tuna fish sandwich in-your lunch today. But did
you know that for.a tuna fo gain one pound in weight, it has o eat 40 pounds of herring?
The remaining 9 pounds of herring are used up as energy for swimming, breathing and *
. ofher life activities. Some of these 9 pounds are not digestibile. Those 40 pounds of herring
have 1o eat 100 pounds 6f copepods to stay alive The 100 pounds of copepods have to
eat 1,000 pounds of plankion. Now you can see that more than 4,000 pounds of food have
to be eaten by other organisms in the food chain so that a tuna can_gdin only one pound

in welght.

Most sciénﬂsfs agree.that each step in the food chain Is only 10% efficient. That Is, each
step In-the food chain actually utilizes only about 10% of the production of the previous
step, That means that 90% of the food value is lost in each step of the food chain.

1. Calculate the amount of food used in each step of the food chains listedt below.
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2. Which of the two food chains uses -"rhe plant plankton energy more efficiently? Why?
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Fascinating Fa‘ct! The blue whd!e has eyes as big as footbails.




